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The phrase ‘go ‘to the brmk in the
passage means
(a) declare war on each other

. (b) negotiate for peace

24,

(c) retreating from extreme danger
“d) advanclng to the stage of war but

not- engagmg init’

"The author’s main pomt is that.
(&) man’s ‘destiny-'is not fully clear or '~

visible.

(b) man’s safety”ls assured by the -

delicate baldnce of power in terms of
nuclear-weapons.

(c) human society w1ll survive desplte :

- 'the " serious threat of total ann1h1-
lation.
{d)man’s soul and spmt cannot be
" destroyed even by the super powers.

. Which of the following best expresses the

" theme of the above passage? -

" two

given below ‘them :

' Dear Shri Phutke, . .
© . Our . earlier -letter'

(a) Mounting cost of modern’ weapons

(b) Man’s de51re to survive mhlblts use -

of deadly weapons. - .
(c) Threats and mtlmldatlon between
_super powers ’
(d) Destruction  of
inevitable,
Directions ;-

~-(BS.R. B 1996)

received no

response from you.

.. . What will your nelghbours thlnk af
- we have to send our truck out to your.
B house to repossess- that furniture on which

" you have so_ far-not paid your last as' many- - -
© as six mstalments out of the ten? -

Sincerely yours,

Feroz Lakdawala ..

Dear Shn Lakdawala

"1 have. dlscussed the matter you‘
wrote about with- all my nelghbours and "

every one of them thinks it .would be a

L

_ mean act by a blg and’ prestlglous firm like

mankmd is.

Read. -the following
letters and answer. the -questions .

26.
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Yours' truly,
. M.T. Phutke

It appears that Shri- Lakdawala’s main
-purpose of writing the letter is to

(@)inform -Shri Phutke’s neighbours
about the kind of furniture he sells

(b) recover the unpaid balance amc-unt,

from Shri Phutke

_(c) refind the amount of furniture sold.,

". by him

" . (d) pay the last six unpaid mstalments

.21

immediately .
(e) send ‘his truck to Shri Phutke to
“shift his liggage :
Which of the following made Lakdawala
write a letter to Shri Phutke" )
(a) Discussions with
neighbours

" Phutke’s

- (b) Delay'in recovery of the furniture -

(c) Prompt payment of six mstalments
(d) Purchase of furniture :

"+ (e) None of these

28.

“(a)Four - (b) Six (e) Ten -
- (d)Cannot be determined - -
- (e) None of these o
Shri~ Phutke responded: ;to  Shri

29.

How ' many . 1nstalments had Shn=
" Lakdawala received from Shri Phutke? ..

Lakdawala’s letter by

-(a) paying the unpaid dues

(b) returning the furniture

. (c) asking the nelghbours for help

. {d) writing a humorous reply

‘30,

" (b) Phutke's

(e permitiing Lakdawala to take away
* his furniture

Which of the following can be deﬁmtely

inferred from the above cor*espondence"

(@) Lakdawala has so far refrained from

" writing any letter to Phutke
nelghbours . purchase
furniture items from Lakdawala

" (¢) Phutke would not like Lakdawala te

- repossess the furnjture.

(d)Shrl Phutke is no longer in need of -
."the furniture he ‘bought  from °

- Lakdawala.

“(e) Shri ' Phutke + doesirt. intend ~to

~ withhold the payment any further.

: 'yours :
| '_ S ANSWERS . | o
O @ @G h@, 6@ 1O 8@ 9@ 10@
L@ 12D 180 - 14:@) 15 6}/, 16. (b) - 17, (d) .18.(c) - 19. (d}. 20. (b).
2.@). 2. 24 -_'(c_)' 25, (by 26 ®) 21 (e) 23 (a) 2_9, @-

: 30 :(c). .

9. THEME DETECTION

-

In this type. of questions, a paragraph is given followed by certain statements which may

or may no be inferred from the passage. The candidate is required to choose that
" statement which contains ths jist or the theme of the passage i.e. the idea that it conveys.
Through advertising, manufacturing exercises a high degree of control over
. consumer’s desires. However the manufacturer assumes enormous risks in attempting to

Example :

predlct what -consumers w1ll want and in producing goods in quantlty and dlstnbutmg

- them in advance of final selection by the. consumers,
- The paragraph best supparis the statement that manufacturers——
" () distribute goods directly to the consumers

{b) can e¢liniinate -the risk of overproduction by advertising : PR

(c) always take moderate and calculated risk :

(d).can predict with great accuracy the success of any product they put on-the market
(e) must depend upon- the final consumers for the success of their undertakings

Solutlon

: Accordmg to the passage, it is very difficult for the manufacturer to predlct

thé - consumers’ response to "his products. But by advertlsmg, ke can stimulate the
consumers to buy his product.” So, the - Lllel'lc of the paran" zph is best mentloned in (b).
Hence (b) is the answer.

(a)
(0

@

Dlrectlons

is incorrect because it is mentioned in the paragraph thzt manufacturers dlstnbute-

goods in advance of their demands and not directly to the consumers.
is wrong because- accordmg to the passage, manufacturers take enormous and not

" ‘moderate’ risks.

is wrong because it is mentioned in the passage that manufacturers take great risk

_'1n predicting what the consumers want.
“.is a.true statement but it does not depict the complete theme of the passage.

R PRACTICE SET

~ Each of the followmg questions contains .G small paragraph followed

by @ question on. it. Reud each paragraph carefully and .answer the questzon
gwen below it :

1

The v1rtue of art does not allow the work

to be inferfered with or immediately
. ruled by anything other than itself. It

insists that it alone shall touch the work

“in order to bring it into being. Art .
" requires that nothing shall attain the
- work except through art itself. -

.(Bank P.O. 1996)

- Tlus passage best. supports -the

. statement that -

- (a) art is'governed by external rules

".and conditions.

“(b) art is for the sake of art and life.

() art is for the sake of art alone.

; (d) artist realizes his dreams through

his artistic creation.

_ (e) _artlst should use l’llS art for the'

.sake of society. .
Though the ‘waste ‘of - tnne ‘or the

"expenditure on fashions is very large, yet
fashions have- com€ to stay. They will not -

o 8o, come what may. However, what is

‘‘now.“required is that strong efforts -

- should be made to dlsplace the excessnve‘

-craze for fashlon from the mmds of these .

youngsters.’

The passage best supports the.

statement that :

" (a) fashion is the’ need of the day
(b) the excessive craze for fashwn is,

detrimental to one’s personallty

{c). the ‘hoard for fashion should be-
. done a.vvay_with_s_o as not to 'letj i

down the constructive development,

(d) work and other activities should be ’
- valued more than the outward

. appearance.

Due to .eriormous. profits mvolved in
_ smuggling, hundreds of persons- have .
been attracted towards this anti-national -

activity,: Some of them - became
millionaires overnight. India has a vast

_coast line both on the Eastern and

Western Coast. It has been a heaven for
smugglers who have/béen earrying on
their activities -with 'great | impunity.

There is no doubt, that from time to time -
-, certain seizures were made. by ‘the

(SB.LP.O. 1995)




. _(c) authorities are

214

- enforcement -authorities,

) losses the smugglers made huge profits.-

The passage best suppo:ts the'

statement that: .

(@) smuggling hampers the economlc
development of a nation.

(b) smuggling ought to be curbed..
taking -
_ . ‘measures to curb smugglmg
(d) smuggling is fast i increasing in our

durmg ralds,
and .ambush but even allowing these -

_ country ong to'the qulcl( profitit -

entails.

' The only true educatxon éomes through .

the stimulation of the child’s powers by
the demands of the social situations in
which he finds himself. Through these
demands he is stimulated' to ‘act as a
member of a unity, to emerge from his.
original narrowness of dction and feeling,

_and to conceive. himself from the stand -
point of the welfare of the group to which -
. (Bank P.O. 1996) .
The passagé ' best ~supports the

he belongs.

statement that réal edr: ~cation— -

(@) will “take" place if “the chlldren e

‘imbibe action and feeling -
(b) will take place if the’ chlldren are.
physlcally strong

(c) is not prov1ded in our- schools

: ,(b-) all. 1mag1natlons become a reallty .

" (e) comes -

. &ealord, .

'1magmatlon made. the poet .master of .*
land, sea and. air: ‘But a poets dream of -

',today

(d) comes through the mteractlon w1th -

" social situations’

from - _the’ self—centred
approach of the students

Emerson said that the poét waslandlard,

airlord.. . :The " flight of

yesterday " becomes today 'an . actual

_-achievement and a’ reahty for.all men.

‘Even those who invented, improved and

. .perfected the. aemplane could hardly -

have dreamt of the possmlhty of flight

“into outer space.

. The ' passage best ,supports the
- statement that - -

(a) seemingly 1mposs1ble 1mag1natlons .

" make onie 4 good poét.

‘some day °
{c) ‘what’ man. 1mag1ned has never
" “been 1mpossrble he* has " always
turned ita reallty thrcugh his:
o conceptloh ‘of 1deas and sheer hard
,labour AL

striet - S

. I(e) “usually

Objectwe General Engllsh i

(d) ‘man has reached “the climax " of
technological development with his
exploratlon into outer space.

-The preventlon of accidents makes, 1t_

necessary not only that safety devices be

used to guard exposed machinery but . .
. also" that mechanics. be- instructed in

safety rules which they must follow’ for
..thelr'own protection, and that lighting in
the plant be adequate: (S.B.LP.O. 1995).

The passage best supports the

statement that industrial ac"ldents——
(@) are always avoidable

(b) may be due to ignorarice

(¢) . cannot be entirely overcome

".(d) can ‘be eliminated with the help: of

- safety rules :

result- from
‘machinery

It is upto our government and ‘plariners

inadequate

“'to "devise ways ‘and means for - the

: moblhsatlon of ‘about ten :crore workers

whose famll.es total up about’ forty crore ;
© men, '

, women and - ‘children.: Our
agriculture .is ‘over-mannéd. A lesser
number ‘ of agriculturists ‘would mean

-more purchasing or 'spending power to

every agriculturist. This will result in
the shortage of man-power for many

-commodities to .be produced for which
‘there will be .a .new.demand from a

: .prosperous agrarian class; This shortage

will be removed ‘by surplus. man-power

 released from agnculture as suggested :

“"above. .

" The - passage best supports the

: statement that—

(a) .employment in production is more ’
L fruitful than the - employment in’
‘_ ) agnculture o

_-(b) Indian economy is in a poor shape

-“bzsically ‘due’ to

i improper
moblllsatlon of man‘pcwer.

' _.' (c) . a shift of abour from agricultural

i (d) the’

sector o ‘the . industrial . sector
would uplift the llvmg standard.

industrial | segtor . © is
labour-deficient W}ll{: " the
'ragncultural secbor is over-manned
in our country

To forglve an injury is often con51dered to

. be a sign of weakness; it is really a sign
- . of strength. It 'is easy to allow oneself to '
- be carried’ away by resentinent and hate

- into-an act of vengeance; but it akes a
/ strong .character -to -restrain’‘those

s ) 'natural passwns The man who forgwes o

“(a) -the

| _Theme Detection )

an 1n]ury proves himself to be the
superior - of the man who “wronged
himself . and : puts the “wrong-doer to

shame. (Bank P.O. 1996)
-The passage . best supports the
statement that : :

_sufferer slone knows the

_intensity of his sufferings: -

(b) people ‘tend to forgive the -things _.

_happened in'the past.

") natural passmns are difficult to-.

suppress.’
(d)- mercy is

revenge
(e) - a person: with calm and composed
. ‘nature has depth of thought and

vision. =
Exports ‘and

the 'noblest form of

1mports a_ swelling

" favourablé balance of trade, investments
-and bank-balances, are not an index or a

balance sheet of national prosperity. Till
‘the beginning of the Second World War, -

- English exports were noticeably greater .
than what ‘they are today. And yet

‘England has greater national -prosperity -
today than it ever had. Because the
income of -average Englishmen, working:

. as field and factory labourers, clerks,
policemen;. petty shopkeepers and shop -

assistants, domestic workers. and other
Tow-paid worhers has gone up.

The . passage “best supports the

" statement that :

10,

(a) a couhtry’s economic, st ndard can :
" be best adJudged by the per eapita |

“income. -

(b) a countrys balance of trade is ‘the

‘tnain’ criteria . of determmmg its
" economic prospenty

1L

uau

{c).:is the beneﬁc1ary of ‘he Industrial
Revolution -

. (@) s capable of raising his standard

of living

" (e) has contributed to the growth of

- civilisation
Industrial exhibitions play a major role
in a-country’s economy. Such exhibitions,
-how regularly held in Delhi, euable us to

measure the extent of our.own less .
advanced industrial progress and the"

mighty. industrial power and progress of
* countries - like . the UK, USA. and
Russia whose pavilions are the centres of
the greatest attention-and attractions.

_' The - passage . best supperts the

staterient  -that the . industrial

exhibitions-— -

{a) greatly tax the poor economies’

(b) are ‘more useful for the developed
_ countries, like’ US.A.
- products. -stand ‘-out superior to

those of the developmg countries

(c) are not of much use  to the

“countries mdustnally

; who are’
*  backward )

. (d_) boost up productlon qualitatively

and quantltatlvely by analytical

" comparison of a country’s products
Cwith those of the developed
‘countries

12 Satlsfactlon with co—workers, promotlon

{c) a nations economy strengthens

_ with the in¢rease in’exports. -
(d) English trade  has continually

increased since the Second World'_"

. War.

Throughout ‘the agés the busmessman T

‘has helped . buxld civilisation’s ' great:
" cities, provided pedple with luxuries and
artists with patronage, and lift his fellow -

citizens to understand - the standard of
living. In " the last " few centuzies the
busmessman has séeded the Industrizl
Revolutlon around tl e world

‘(@) is-accountable to the society .

(b) llves luxurious and comfortable hfe

© - (SB.LPO. 1995)
_ The passage "best supports the,
statement that the businessman

- (d) every

13 The
... organisational

opportunities, .the nature of work, and
pay goes with high performance among.

those with strong growth needs. Among.
those with weak growth needs, no. §uch

relationship . is oresent — and, in fact,
satisfaction with  promotion

‘tunities goes with low performance.
This passage best supports the

_ statement that ¢’

(a) satisfaction is, an 1_nev1table
organisational variable. "

. (b)' jeb. satisfaction . ‘and per'forma.nce'

. are directly and, closely related.
(c) .relationship .

moderated by growth need.

: employees havmg weak growth
-- . meed.

(e_) high performance is essentlal for,

- organlsatlonal effectiveness.

attainment - of * individual
goals . «is mutually
interdependeént and linked by-a comryion
denomma*or — employee work motlva-

whose -

“oppor-- - .

‘between job- -
. satisfaction .and-. performance is

organlsatlon " has- few-

and ',



tion. Organisational ~ members = are

- motivated to'satisfy their personal goals, -

and they contribiite their efforts to the

attainment “of orgamsatlonal objectives -

ds.means of achieving these personal
goals. - (S.B.I.P.0. 1995)
The passage ' best ‘supports the
. statement that motivation -

_ (a) encqurages an individual to g1ve )

priority " to - personal . goals over
organisational goals ’

(b).is crucial” for the survival of an

individual and organisation

"(c) is .the product of-an individual’s

physncal and mental energy

’ - (d) is.the external force which induces

14.

an’ individual to contrlbute his
efforts

“(e) ‘makes orgamsatlon and soclety

inseparable

16.

The <onsumption of -harinful drugs by -

the people can be prevented not only by

: banning thieir sale in the marke: but also
their . .

by “instructing users. about

“.dangerous effects. - which ‘they must

15.

understand for their. safety. Also the-drug
addicts-’ may -be provided with proper
medical facilities for their rehablhtatlon
This will help in scaling down the use of
drugs. (Bank P.O. 1996)
The passage best supports  the
statement that consumptlon of harmful
dfugs— -

(a) are.on increase in the. soc1ety

(b) - can always be reduced.

) are due to lack of medical facilities.
(d) can be elitiinated’ w1th the ‘help of

bannmg their sale. -
(e) may be channehsed through proper
systemi\0 _
The future of women in Indla is quite
bnght and let us hope that -they will
Justlfy their abilities by rising to- the
accasion.' Napolean was right when he
daclated that by educatmg the women

"_“re ‘can’” -educate the whole nation.

.-The passige bes:

(@) "India

Because a country can niever rise without
the contnbutlon of 50%
popiilation. - )
supports-‘ the
statement that .-

is striving hard for the

emanvlpatlon of women.

".b) all women should be well educated.
{c) a natlon can .progres - only when

- ‘women are given equal nghts and -

opportunltles as men :

17.

of their .

18.
o the statement that: -

. () economic -

social status. ] .
The  passage best supports the,

~(a) technology - dec1des

vojective teneral-fnglish

(d) women ought to be. imparted full.'
freedom to prove their worth and .
_contnbute to the progress of the

“ nation.

The school has always been . thp most
important means - of transfemng me'

wealth of tradltlon from ore gen°rat-on

-to the next. This apphes today in an eyven’ -
higher dégree than in. former timesfor,.

thréugh the - modern development _of
economy, the family as -bearer of

tradition "and educatlon has become '
" weakened.. :
" This passage best supports .the -
statement that - for transferrmg the
wealth of tradition fron1 one generation

to the next— -

(@) there are aleans. othcl tha:x {h:"

.school

' (b). several dlfxerent soarces must be

tried
development
- crugial role - -
(d) modern technology must be th to
© use

(e) family," as ever, is the most, potent Y

means ~ . (S B.I.F.O. 1995)
One of the important. Kumanitarian

<. by-products of technology is the greater . .
" . dignity and value that it. imparts to

human labour. In a highly industrialized
society, there.is no- -essential difference’
between Brahmin and Dalit, Musllm and-

" Hindu; they are- equally useful and hence |
equally valuable, for in:the mdustnal .

society mdmdual product1v1ty fixes the
sizé of the’ pay cheque and this . fixes
) (BankPO 1996).

statement that ;

‘social staLus
(b) castes and religions-are mar made
(c) human “labour has dlgmty ‘and .
value,

(d) all mdlvxd.uals 1rrespect1ve of caste '

and creed, are: born equal.

3 (e)_ mdustnal soc1ety 1s a g'reat leveller -

of men: '
The paragraph above also supports

(a) there are mdmdual dlf_ferences m
- industrial productmty

(b) - there -are riumerous 51de eﬁ”ects of

- technology

" () sizé- ‘of the pay nd. soc1al status

- ':contradlct each other

plays ) a_,_

1nd1v1dual s -

Theme Detectzon

i9.

. ft in our econonty from a
orting a just and  20. There is a shi
' upl}l:;ldmsg c:lrllge SI‘.tpsphouldgnot be afraid manufacturmg to a service o;‘l;ta(x:ltat;gﬁl
n: (teoclllsmg the government in a healthy The - increase in sc:rv1cer-15( s with
manne The Press has to be eternally require the managers to z\{lo % s and
'marlmel; to protect the rights of the “people; ‘rather than :{l hn;}
'-li'vlgrl?;s backward and suppressed things from'the assem }(IBank 50, 1998)
he saciety. It should 4lso give ‘ o
. Zecbt:lgrslc(; fdt \iew o:y the things so that This passs}l,get_beSt' supports e
: d in the formatlon of stateinent tha
gig;ftﬁ;r;l?glllce‘lgfm;“ (a) - managers should have a balanced
t su orts the 7 mind.
Tth ie:::f?lgxzt—b es' PP - (b) “assembly hne Wlll exist in serve
sta _
t-role to play in a . _crganisations.
« greSSC?::Ya e (¢) m%erpersonal skills will ‘become
. (&) tﬁ;n opl‘ess is the only means t° more. 1mportant m the future ‘work
the masses the policies.of ~place, ) |
li)ﬁzje‘:’izgnment ' ) (d) manufactunng orgamsatlons
( ) the gfreedom of press is essentlal o '1gnore importance of peo}ﬁle + deil
‘ for the proper funct1omng of (e) ~ service organisations will no
d)ermo cracy. E L with obJ‘ects and 'things.
(d) the - press ~can - be used by the S _
governments as an eﬁ“ectlve medla ---------------
------------- ANSWERS o j
- N T Ly y° 10. (e)
'1 © 2.0 3. 4@ 5 © 6@ TG 8@ ia)) e
11 o 12 (c) 13. (@) . 14. (d)._.15. ) ‘16_.f(c) .17.‘ © 18.@@) 19.© 20-

(d) labour force is treated well .in .

modem day mdustn_es

 (e) division of laboar based on caste

. was justified.
The Press should not be afrald of

s

for the upliftment of the bacl(ward
sections of society.

'.'(e) “all" the information given by the

press ‘should be well- articulated so
"as to gain a good, opinion towards:
the ruling party




